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THE4R5%: 001 HESEE 2,202,643 FEMERRA: 1,809,616 ELGERERE: 970,408
TFEATE: 01 Pl fi A BE HS E & 550 1 R & (5] T2 BN %E: 0 TR 393,027 BT EEE: 0
£ A PRDAERS B RE: 0 BEEEA: 1,222,730 TEMEFDEZR: 17.84% EIZE HEA: 110.01.27
TCREHEE: P A EE RS E SEESEEE 2,202,643 B FEFHE: 979,913 HIRFLER: 44.49% " x1 /2
A e ¥ 1= s Gl il A B AR
HX | 2= LA HEHAR BHir| HwEHSE | WmEREE WESHE | BNEE | BNSE | BEREE | BESHE | EFERSHE | THERA | EERERA | FEAE R
= HEATE ot T2 = 0.0 0 0.0 0 0 0 0 0
— RS | MR R AR = 0.0 0 0.0 0 0 0 0 0
T
01 HETE S e Ao G ER A8 24 0.0 0 0.0 0 0 0 0 0
T
02 RS | T D A J&& 2.0 243,600 487,200 0.0 0 0.0 0 487,200 406,000 40,000 447,200
TF2 D=1200mm*1500mmH
03 MR | N B S A A 3" = 3.0 9,180 27,540 0.0 0 0.0 0 27,540 22,950 22,950 4,590
T
04 W E R | TER 4R SR SHP = 3.0 36,984 110,952 0.0 0 0.0 0 110,952 92,460 61,640 49,312
T
05 R | E RS /KE B E#{E g = 1.0 142,500 142,500 0.0 0 0.0 0 142,500 118,750 118,750 23,750
T
06 W E R | B BngE% PH ~ CL#& 1 & 2.0 14,250 28,500 0.0 0 0.0 0 28,500 23,750 23,750 4,750
T
07 LRSS | TEERR SO0NTH&st =88 = 2.0 9,600 19,200 0.0 0 0.0 0 19,200 16,000 16,000 3,200
T
08 R i | BE/K T 1,000.0 14 14,400 0.0 0 0.0 0 14,400 12,000 10,800 3,600
T
09 %ﬁ%ﬁﬁ%ﬁ{% ek H 7K 2" SEmE H KT ABS | 19.0 780 14,820 0.0 0 0.0 0 14,820 12,350 6,500 8,320
T
10 WS EE G 755 7K0% ABS 20cm 4 E G 7K >k 80.0 1,020 81,600 0.0 0 0.0 0 81,600 63,000 34,000 47,600
T
11 i@%}iﬁ%ﬁ{%ﬁ 90" #E A ABS H 4.0 3,570 14,280 0.0 0 0.0 0 14,280 11,900 11,900 2,380
T
12 WERH | Bk PVC >k 160.0 216 34,560 0.0 0 0.0 0 34,560 2,880 1,800 32,760
T
13 TR | ik Al TR AR R U EEBE SP-1026 = 4.0 612 2,448 0.0 0 0.0 0 2,448 2,040 2,040 408
TF ABS
14 AR i | B E A 1R SUS304 3" | A 10.0 10,200 102,000 0.0 0 0.0 0 102,000 85,000 51,000 51,000
T
15 R [ — V) ML K ket =, 3.0 10,800 32,400 0.0 0 0.0 0 32,400 27,000 36,000 -3,600
T
16 %ﬁ%}?ﬁ%ﬁ{% ot =P e SUS#316 AS05477 | 4.0 9,600 38,400 0.0 0 0.0 0 38,400 32,000 32,000 6,400
T
17 AR R | 58 A S ARE A S ~ D ~ | = 2.0 36,000 72,000 0.0 0 0.0 0 72,000 60,000 60,000 12,000
T WA -~ Zgha
18 %ﬁ%}iﬁ%ﬁ{%ﬁ FE e =, 1.0 38,400 38,400 0.0 0 0.0 0 38,400 32,000 32,000 6,400
T
20 R (FREEs SUS304 3" &M e = 3.0 12,000 36,000 0.0 0 0.0 0 36,000 30,000 30,000 6,000
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TAE4R5E: 001 WESEE: 2,202,643 FEMGECA: 1,809,616 ELGERERE: 970,408
TFEATE: 01 Pl fi A BE HS E & 550 1 R & (5] T2 BN %E: 0 TEASFIR: 393,027 BT EEE: 0
£ T AT PR AR B 0 BB A 1,222,730 FEfLFER: 17.84% I HEA: 110.01.27
TR b B Py B S E SR 2,202,643 B FEFHE: 979,913 HIRFLER: 44.49% " X2 /2
A e ¥ 1= s Gl il A B AR
HX | 2= TH&# HEHAR B wEHE | SEEE WESHE | BNEE | BNSE | BEREE | BESHE | EFERSHE | THERA | EERERA | FEAE R
T
21 R R VMR 4 25M (6% 7.0 14,400 100,800 0.0 0 0.0 0 100,800 84,000 48,000 52,800
T
22 TR | 7K E R U AP JE 7.0 35,700 249,900 0.0 0 0.0 0 249,900 208,250 148,750 101,150
T
23 st | B E SRRk S J&E 6.0 24,000 144,000 0.0 0 0.0 0 144,000 120,000 80,000 64,000
T
24 SRS | (ki B AT EE A 4H 2.0 24,000 48,000 0.0 0 0.0 0 48,000 40,000 40,000 8,000
T
25 R |SUS304 1T “Ef/KES 4t = 1.0 57,600 57,600 0.0 0 0.0 0 57,600 43,000 96,000 -38,400
T
26 AR | — VI B IE M SR EE (R & = 3.0 15,000 45,000 0.0 0 0.0 0 45,000 37,500 25,000 20,000
T RQO)
27 %ﬁ%}iﬁ%ﬁ{% )R SUS316 | 14.0 3,570 49,980 0.0 0 0.0 0 49,980 41,650 17,850 32,130
TFE
28 WS | K E B EMRPH ~ CL2 ~ Y8 ~ 1F | = 1.0 86,400 86,400 0.0 0 0.0 0 86,400 72,000 144,000 -57,600
T i)
29 R R (B E miE TS = 1.0 10,800 10,800 0.0 0 0.0 0 10,800 9,000 144,000 -133,200
T
30 R | ST A MBI E T E = 1.0 08,563 98,563 0.0 0 0.0 0 98,563 82,136 144,000 45,437
T
_ R VR R R E A 0.0 0 0.0 0 0 0 144,000 -144,000
TF
01 HERE I | AR (B EETE ~ MR W | B 1.0 14,400 14,400 0.0 0 0.0 0 14,400 12,000 12,000 2,400
T PrEEA)




